Wednesday Maths Challenge

Part Whole Model

Pard Whole Model

7a. Hal has least counters.
Raj and Zak both have more than Hal.
Fill in the missing paris.

7. Jill has most counters.
Zafa and Bart both have fewer tham Jill.
Fill in the miﬁs'rlg p-l:ll'|".'i-
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ga. Maria has 7 lelipops. 0 0 9 P
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she gives three to Nia.
How many does 3am gei?

Use a part whole model to help you.
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ab. Paul has 8 apples. ‘ “ ‘
He gives 2 fo val. ““

How many does Bill get?

Use a part whole model o help you.
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Fa. Dani 5ays,
My part whole model is comect.
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Is D:ani right? Explain how you know.

?b. Wez says;
sy part whole model is comect.

Is= Wez right? Explain how you know.




